LTS AS

Shock Assembly 8269
8269A opt.

8264 82696 opt.
8269R opt.

8269K opt,

EN
82608 opt R w 2/ )
~ o L)AL
5 opt. op - opt. (A V4 /] opt.
Y B60op. (B A5 4«/{{”' /] 8280Ropt.
8041 (font & | A
rear) (& ! N
8040 opt, (== ‘ ( S A6
8042 opt. =\ 51804
8043 ost, === @{A\i 6x1345 88
8044 opt. ¢ | ! ) I=5 518
805 opt. (=3 8266R opt. 5x16 €S
S ‘ 826X opt.
|
& 2523
4t ‘ 6o 2541000 o
‘ . 82536 opt.
8253R opt.
| 8253X opt. 8269
P s
_ opt.
ooes K N 8269R opt
8274 opt. 8269X opt.
\ /
327 BCS 8251Aopt, @
8251G opt. 8347
8251R opt. 4mm NL
: 8251X opt.
8253R opt.
8253X opt.
3229
2.5% S
27 \% 8269
N 8269
gie s ey
i Specificati thi bject to ch ithout notice. E ttempt has b det SR o ggggg gg{ P ggggﬁ gptt
3 ecifications on this page are subject to change without notice. Every attem| as been made to ensure ; &
see barts List far a complete thsaccuracy of this dra’\:vigg; howevJer,Traxxas cz?n not be held responsig[e for t)f’pographical or other errors. KA. 826%K opt. ‘

listina of optional accessories.


https://www.rc-hp.de/navi.php?qs=TRX8269
https://www.rc-hp.de/navi.php?qs=TRX8269
https://www.rc-hp.de/Traxxas-Radmutter-4mm-mit-Flansch-Nylon-Locking-serrated-schwarz-8347
https://www.rc-hp.de/Traxxas-Radmutter-4mm-mit-Flansch-Nylon-Locking-serrated-schwarz-8347
https://www.rc-hp.de/navi.php?qs=TRX8251
https://www.rc-hp.de/navi.php?qs=TRX8251
https://www.rc-hp.de/navi.php?qs=TRX8253
https://www.rc-hp.de/navi.php?qs=TRX8253
https://www.rc-hp.de/navi.php?qs=TRX8260
https://www.rc-hp.de/navi.php?qs=TRX8260
https://www.rc-hp.de/navi.php?qs=TRX8269
https://www.rc-hp.de/Traxxas-Aufhaengungs-Link-hinten-5x109mm-ob-hi-Stahl-2-8248
https://www.rc-hp.de/Traxxas-Aufhaengungs-Link-hinten-5x109mm-ob-hi-Stahl-2-8248
https://www.rc-hp.de/Traxxas-Aufhaengungs-Link-hinten-5x109mm-ob-hi-Stahl-2-8248
https://www.rc-hp.de/Traxxas-Aufhaengungs-Link-hinten-5x109mm-ob-hi-Stahl-2-8248
https://www.rc-hp.de/Traxxas-25x10mm-Senkschraube-2523
https://www.rc-hp.de/Traxxas-25x10mm-Senkschraube-2523
https://www.rc-hp.de/Traxxas-Achs-Montage-Set-komplett-v-h-fuer-Suspension-Links-8227
https://www.rc-hp.de/Traxxas-Achs-Montage-Set-komplett-v-h-fuer-Suspension-Links-8227
https://www.rc-hp.de/Traxxas-Schraube-3x27mm-Rundkopf-Innensechskant-6-2616
https://www.rc-hp.de/Traxxas-Schraube-3x27mm-Rundkopf-Innensechskant-6-2616
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-3x30mm-Sechskant-Schraube-2582
https://www.rc-hp.de/Traxxas-Schraube-25x16mm-Zylinderkopf-6-2618
https://www.rc-hp.de/Traxxas-Schraube-25x16mm-Zylinderkopf-6-2618
https://www.rc-hp.de/Traxxas-Schraube-25x16mm-Zylinderkopf-6-2618
https://www.rc-hp.de/Traxxas-Schraube-25x16mm-Zylinderkopf-6-2618
https://www.rc-hp.de/Traxxas-Schraube-25x16mm-Zylinderkopf-6-2618
https://www.rc-hp.de/Traxxas-Cable-T-lock-hinten-8284
https://www.rc-hp.de/navi.php?qs=TRX8256
https://www.rc-hp.de/navi.php?qs=TRX8256
https://www.rc-hp.de/navi.php?qs=TRX8253
https://www.rc-hp.de/navi.php?qs=TRX8269
https://www.rc-hp.de/navi.php?qs=TRX8251
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-5x11x4mm-2-5116A
https://www.rc-hp.de/navi.php?qs=TRX8279
https://www.rc-hp.de/Traxxas-Tellerrad-Ritzel-Underdrive-gefraest-8288
https://www.rc-hp.de/navi.php?qs=TRX8280
https://www.rc-hp.de/Traxxas-Ball-bearings-black-rubber-sealed-6x13x5mm-2-5180A
https://www.rc-hp.de/Traxxas-25x10mm-Senkschraube-2523
https://www.rc-hp.de/Traxxas-BALL-BEARINGS-BLACK-10X15X4-5119A
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-6x12x4mm-2-5117A
https://www.rc-hp.de/Traxxas-Radmitnehmer-12mm-hex-2-Mitnehmerpins-8269
https://www.rc-hp.de/Traxxas-Stub-Achse-verlaengert-Portal-Drive-2-8255A
https://www.rc-hp.de/Traxxas-Portaantrieb-Output-Gear-v-h-8258
https://www.rc-hp.de/Traxxas-Kugellager-schwarz-Gummidichtung-4x10x4mm-2-5104A
https://www.rc-hp.de/Traxxas-Ball-bearings-black-rubber-sealed-6x13x5mm-2-5180A
https://www.rc-hp.de/Traxxas-Portalantrieb-Input-Gear-hinten-8259
https://www.rc-hp.de/Traxxas-Portal-drive-input-gear-hinten-machined-l-r-erfordert-8-8065
https://www.rc-hp.de/Traxxas-Achswelle-hinten-Heavy-Duty-l-r-machined-8061
https://www.rc-hp.de/Traxxas-Achs-Welle-hinten-links-8230
https://www.rc-hp.de/Traxxas-Achs-Welle-hinten-rechts-8231
https://www.rc-hp.de/Traxxas-Achse-hinten-Heavy-Duty-l-r-erfordert-8065-8063
https://www.rc-hp.de/navi.php?qs=TRX8260
https://www.rc-hp.de/Traxxas-Daempferkappen-Federhalter-GTS-Daempfer-8264
https://www.rc-hp.de/Traxxas-Kugelkopf-Set-hohl-komplett-PTFE-Beschichtung-8274
https://www.rc-hp.de/Traxxas-Rebuild-Kit-GTS-Daempfer-8262
https://www.rc-hp.de/navi.php?qs=TRX8263
https://www.rc-hp.de/navi.php?qs=TRX8266
https://www.rc-hp.de/Traxxas-Rebuild-Kit-GTS-Daempfer-8262
https://www.rc-hp.de/Traxxas-Daempferkappen-Federhalter-GTS-Daempfer-8264
https://www.rc-hp.de/Traxxas-Daempferkappen-Federhalter-GTS-Daempfer-8264
https://www.rc-hp.de/Traxxas-Kugelkopf-Set-hohl-komplett-PTFE-Beschichtung-8274
https://www.rc-hp.de/Traxxas-Daempferkappen-Federhalter-GTS-Daempfer-8264
https://www.rc-hp.de/Traxxas-Daempfer-Feder-GTS-vorn-045-rate-2-8041
https://www.rc-hp.de/Traxxas-Daempfer-Feder-GTS-hinten-054-rate-2-8040
https://www.rc-hp.de/Traxxas-Daempfer-Feder-GTS-Natural-022-rate-2-gelber-Streifen-8042
https://www.rc-hp.de/Traxxas-Daempfer-Feder-GTS-Natural-030-rate-2-weisser-Streifen-8043
https://www.rc-hp.de/Traxxas-Daempfer-Feder-GTS-Natural-039-rate-2-Streifen-orange-8044
https://www.rc-hp.de/Traxxas-Daempfer-Feder-GTS-Natural-061-rate-2-Streifen-blau-8045



